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TRANSPORT WORKSHEET
Take a walk to FEET STREET. 
Walk round Feet Street and take a look at the display boards then answer the questions below. 

Transport is really important. We need to get around to go to school and the shops. We also like going on holiday. The problem is that cars and aeroplanes use a lot of fossil fuel in the form of petrol, diesel and oil. This produces a huge amount of pollution and carbon dioxide. These gases add to the greenhouse effect and contribute towards global warming. 

1. What form of transport do you use to get to school each day? What is its source of power?

Transport
Do you use it? (Yes or no)
What powers it?
Does this cause pollution?

By foot




Bicycle




Car




Train




Bus




2. Why do you use this form of transport?
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Look at the graph below. This shows the impact different modes of transport have on the planet for every kilometre you travel.

(In the graph the impact of transport is measured in hectares. This refers to the amount of land needed to use the transport, get the fuel and other resources to make and maintain the transport system and vehicle. The greater the amount of land needed, the greater the impact on the planet.)

3a.  From the graph which form of transport has the lowest impact on the planet?

3b.  What type of vehicle has the largest impact on the planet?

4. 
Cycling has a slightly bigger impact on the planet than walking because it needs rubber for tyres and metal to make the frame in factories. Why would a car have a bigger impact? Think about what it uses for fuel, and what cars need to travel on.

5. Look at the displays in Feet Street. List 4 things we could do instead of using cars to get around. 

6. List 4 advantages using fewer cars would have.

7. As you leave Feet Street you will pass by two large cartoons. The one on the left shows a town in the future that has changed its technology to transport systems that do not use fossil fuels. There is still lots of congestion with electric cars but no pollution is being made. The picture on the right shows a world in the future where people have changed their lifestyle to use more bicycles, footpaths, and public transport.  Draw a sketch of how you would like to see future transport systems in towns. Label your diagram. 
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